

Zadanie.

Udowodnij, że

$$\sum_{n=1}^{\infty} \left(n \cdot \log \left(\frac{2n+1}{2n-1} \right) - 1 \right) = \frac{1 - \log 2}{2}.$$

Rozwiązanie.

Mamy

$$\begin{aligned} \sum_{n=1}^{\infty} \left(n \cdot \log \frac{2n+1}{2n-1} - 1 \right) &= \lim_{N \rightarrow \infty} \sum_{n=1}^N \left(n \cdot \log \left(\frac{2n+1}{2n-1} \right) - 1 \right) \\ &= \lim_{N \rightarrow \infty} \sum_{n=1}^N \log \left(\frac{1}{e} \cdot \left(\frac{2n+1}{2n-1} \right)^n \right) = \lim_{N \rightarrow \infty} \log \prod_{n=1}^N \left(\frac{1}{e} \cdot \left(\frac{2n+1}{2n-1} \right)^n \right) \\ &= \lim_{N \rightarrow \infty} \log \left(\frac{1}{e^N} \cdot \frac{(2N+1)^N}{\prod_{n=1}^N (2n-1)} \right) = \lim_{N \rightarrow \infty} \log \left(\frac{1}{e^N} \cdot \frac{N! \cdot 2^N \cdot (2N+1)^N}{(2N)!} \right) \\ &= \lim_{N \rightarrow \infty} \log \left(\frac{(2N)^{2N+\frac{1}{2}}}{(2N)! \cdot e^{2N}} \cdot \frac{N! \cdot e^N}{N^{N+\frac{1}{2}}} \cdot \frac{N^{N+\frac{1}{2}}}{(2N)^{2N+\frac{1}{2}}} \cdot 2^N \cdot (2N+1)^N \right) \\ &= \lim_{N \rightarrow \infty} \log \left(\frac{(2N)^{2N+\frac{1}{2}}}{(2N)! \cdot e^{2N}} \cdot \frac{N! \cdot e^N}{N^{N+\frac{1}{2}}} \cdot \frac{1}{\sqrt{2}} \cdot \frac{(2N+1)^N}{(2N)^N} \right). \end{aligned}$$

Wiadomo, że $\lim_{n \rightarrow \infty} \frac{n! \cdot e^n}{n^{n+\frac{1}{2}}} = A > 0$. Ponadto, $\lim_{n \rightarrow \infty} \left(1 + \frac{a}{n}\right)^n = e^a$. Zatem

$$\sum_{n=1}^{\infty} \left(n \cdot \log \left(\frac{2n+1}{2n-1} \right) - 1 \right) = \log \left(\frac{1}{\sqrt{2}} \cdot e^{\frac{1}{2}} \right) = \frac{1}{2} \cdot \log \left(\frac{1}{2} \cdot e \right) = \frac{1 - \log 2}{2},$$

co należało udowodnić.

Agata Maciocha
Wrocław, 8.05.2011